[image: image1.png]Graph the equation by plotting points.
i) =3+ 2

Use the graphing tool to graph the line





[image: image2.png]Graph the equation by plotting points.

=3

Use the graphing tool to graph the line

Clickto





[image: image3.png]Graph the linear function. Then give its domain, range, and.
slope.

3
H69 =75+

Use the graphing tool to graph the line
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[image: image4.png]Graph the following function and give the y-intercept, the
sintercept, and the slope.

£6)=-x

Use the graphing tool to graph the line
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[image: image5.png]Graph the following function. Give the domain and the
range.

f)=5

Use the graphing tool to graph the lne.
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[image: image6.png]Graph the equafion.
x=-2

Use the graphing tool on the right to graph the equation.
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[image: image7.png]Write an equation for the line shown on the right. Use the
slope-intercept form if possible

The equation of the line is x= |





[image: image8.png]For the function, determine which viewing window will show both intercepts.
f(x)=30-5x

Which viewing window wil show both intercepts?

O& [-1010,-10,10]
OB [-1L-1017]
Oc [-1010,-50,50]
oD [-11,-5050]




[image: image9.png]Find the slope of the line containing the pair of points
(-9,-6) and (~5,-3)

The slope of the line is [_]
(Simplify your answer. Type an integer or a fraction)




[image: image10.png]Find the slope of the line containing the pair of points.
(4,-6) and (11,11)

The slope of the line is [_]
(Simplify your answer. Type an integer or a fraction)




[image: image11.png]Find the slope, if it exists, of the line containing the pair of points (1,~ 1) and (1,~ 8).

al]

(Simplfy your answer. Type I if the slope is undefined )




[image: image12.png]Find the slope of the line containing the following two points: [1 A

The slope is ]
(Simplify your answer. Type an integer or a fraction. Type N if the slope is undefined )




[image: image13.png]Match the graph with the equation it most closely X
resembles.

[-55by[-5.5]
Xscl=1 Yscl=1

Which of the following equations does the above graph most closely resemble?
o4 x=-3 OB y=x-3

ot y=-3 b y=x+3




[image: image14.png]Match the graph with the equation it most closely L
resembles

[-551by [-55]
Xsel=1 Vsel=1

Which of the following equations does the above graph most closely resemble?
Oh y=x+3 OB y=x-3

ot x=

ob y=-3




[image: image15.png]Match the graph with the equation it most closely
resembles.

[-551by [-55]
Ksel=1 Ysel=1

Which of the following equations does the above graph most closely resemble?

Oa y=1
ot y=-2x+1

o8 x=1
oD y=-2m-1




[image: image16.png]Match the graph with the equation it most closely. 3
resembles

[-551by [-55]
Xscl=1 Ysel=1

Which of the following equations does the above graph most closely resemble?
Oh y=4 OB y=2x-4

ot x=4 oD y=2+4




[image: image17.png]‘Write an equation for the line shown on the nght.

The equation o th lne is
v=[]

(Sianghty your answer, Type i the form y = + b, Use
integers or ractions for any numbers inthe equaton.)





[image: image18.png]‘Write an equation for the line shown on the right-

The equation of thelne is
y=[]
(Simplify your answer, Type your answer in

slope-intercept form. Use integers or fractions for any
numbers in the expression)
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[image: image19.png]Use the table to find the slope m of the graph of ¥, the  Table of Points Generated by Linear Function ¥
yeintercept b, and the equation of the line %
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The slope, m, of the fine is [
(Simplify your answer. Type an integer or a fraction)
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[image: image20.png]Graph the line through (1, - 1) with
m=3

Use the graphing tool on the right to graph the fine.





[image: image21.png]Graph the line with the given point and slope.
2
The lne through (1, ) with sope -

Use the graphing ool to graph the line
Giokto
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[image: image22.png]Find the slope-intercept equation of the line that has the given characteristics

Slope -~ and y-intercept (0, - 4)

The slope-intercept equation is y=[_|.
(Use integers or fractions for any numbers in the expression)




[image: image23.png]It costs a $16 flat fee to rent a chain saw, plus §5 a day starting with the first day. Let x represent the number of day
rented, 5o y represents the charge to the user (in dollars).

Write an equation n the form y =ms-+ b that represents this situation.

y={]




